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Q.No: 1 If¢ HIE 9% Ugd T Feaf sxargar
A Rigrw F1 I B FIfRY

B T L USH IR ST A1y

C I g T1fey

D faepa @ =gt & gy

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 2 = & § yrh fafgerar & srafa oI 3Tl B
A T BT Hem & Th T §

B TR Feeil BT aRatabar §

C TGP B WIS [T B TgTH §

D Raror arEh &1 vEn

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 3 = & § TIfgH el Sk vy § BRI
A R

B PR

c EGIHEIE

D it

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 4 Hw Sen-Rram &t ufear & BT 3MUR T g
A UTd-GiS

B TU-ARpTa® IR

C e gr1 3f s

D THS-iplad IRawT e e gr of g
Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 5 NG YeHich--
A U9 H TP IR 1§
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WA IR A

B

e # fF SR B §
C

I § UR SR g §
D

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 6 TP Sguiwpiad gSyH arcll &M H U9l We F IR # PH-91 faar 3Ifd 82

A SRS YRt BT FAuf fowar

B T R & e s gl o1 oiR siftietfie waeT g arfey
C ST aRaT 1 fFmfor fsan S aifes vmT-sei 3t wew R a9 w1
D Tt & T e 3 & JgdS faeiia et gl 8

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 7 WdH fAeR (ifeRes feqaieR) & a=r-

A U BIY-TR eI & S T Srua Fam 21

B o Siafear ofR Twivur I HIFAIE BT SFfyd FHRam B
C TR WA A HA BT A B

D 397 @ Pl & ol war 81

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 8 YT9I-fRI&0 T THINURS IUFTH-

A YIS ISR & THHR | & &l 3
B i & WTWT-TRiT Bt HRIAd W 99 ol g
C TIHIYI-SRNT T A el 31

D *SIGHT BN R 99 3T 8

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 9 Ut WR W Fw} &I U191 Ry &1 Jdfui S2=4 8-

A eI - Aiifaadl ST I W ST

B S - Pladre & FIA BI HICA BT [P HAT

C Aol UaTE & 1Y UG 91 Irgdl B [ 1

D ST I B GERI P qHE ST H B PRI HT GBI AT

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 10 forgI-
A TP gq Sifed ufhar g

~ c EN NN a ~ a
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N S TR AT AT s R ST —my T —my T T S s

B Ueh G DA &, ToI Sleql U THhT ST Bl

c T% TR P 9 B

D TS 3= A1 Wb 31
Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 11 HToT 101 & Sfaia W1 & SiRTR0T 3 a9 Uad U&l BIH-91 82

A Had e
B BREUCRIRCR]
C Faa ferg
D Fad g

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 12 I= It TR W ARl el o1 7 # ¥ 3 a1 wier waifie gyt g2

A TG S Xe U1 & el & o it s fig &t wam &

B Tt o v foig &1 ww 71 B

C Tl B AR Td W & Ul SATS & SMHRT T HA $T Heel
D ! BT HIE Haa Teard 7 & WfAa @1

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 13 = # ¥ I Tnufiyes TR R HIo1 Sieq-Rgm 1 ufsean # oRer, oo, faarem & ary-ary Sfdd Tgayul YfF®T v §)
A TR HIEH

B URURS HeEy

C Toarst &1 Rigid

D R &1 Rigia

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 14 YIS & UIGT-G&P.........c0evvene.. 3 Heifed uis g =gyl
A fagm=

B Bk

c e

D Iuda @t

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 15 7T & Hefl H THRER-UF-URGISH &1 IudiT a8 A Hrar g &

A T DI UNT R FARR-TF-URAHTST $T THE 18

B il @) gE Wie a8 §

c = YHITONT GRE, TTER 3 TR St wfafasar & 9 e vEd B
D Rieor-ameht B1 ST ) W@ B

Correct Ans : C
Subject : Hindi Bhasha 01
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Passage:

f&w: R fou TTU TR A UedR UR U URA & e Sfud SR are fden o1 7ae Fifo-

3BT & SRT & T E YR 7 S0 SiagH T URYH Bt SR 7 9 fvail 81 afeal 39! Yo Iwadisil 9 W11 g5 o1 918 3i<3T aad g1 a1 §R1, HRd
I Pt 39 I F 3o &Y LY gers SR Bt ot 3 I 3mewf &Y A Yo M 3/ wid i S gH Ui & Ud g 1 8id AR I8 € SR URA T
e P G b1 @ 7

3157 &1 FOrg IUaifR! T IFd A @ 8, d Heol b dhed €, U ae’] & Ger 11 359 ot ael-a<t Suaiemt gart ufdam &% € 81 o1 g5 3ot
et IR T & o6 57 3 AR B G0 SR Ua™ &t gt &1 PR X ?

yfarsy & g% s &A1 a1 3 § T 93 31 ofeh FRAR TR 3 § ifds g9 S 99 IR-9R ale’id 38 8 iR O 81 et off Sievidd), S8 1 R

T | YRd Bt Aar BT 3 § argi-aRiet Wifiga ar &) Ja1 AT HBT Hadd @ TR 3R S B e, Saial siR SiquR &1 SR &Y fBer
BRI Wit & T We e @i I8t Aeadian K T P W U@ oifg § 3y fire Wit | e 7% gER N a7 8 R 9" d@ ar ot il & offg ¥ iR
q difsd § o9 I SURT HIH T el I 3R e g8 Ufefd AT BT 3R Hig afkeny a1 8 anfds &9 3o WU Pl Wi R R 9% | 1 qu
UYRT & 0 § RO g 3 R =g & R o €1 o 318 We @1 faepdt ora TEY S o, Fife it Ig iR A ue-geR @ 9t e 3 98 g
&1 2ifa &1 ifqurcy Fe1 w7, 33t avg Xadadr o sifaursy g1 wufS ot SR famr oft, s 3w g @) Ble-se fewat & e |fer o W 1

YRAay @t oal I o g0 ufafAfd 8, srdla 3 ava § 5 3 s vd fawara & a1y 0 s & 921 onfl gos SiieliemT, Uy SaT gRRl )R
YRV BT JHT el &1 85 T YR T Hel (A0 H3r 8 ofeT 39% IR a3 3§ 95 |

3Tl fad T o T B, U U for ford rafa 3 7 fosan an oiR U R iR ol & Te & a1 YRd SINd 9 Wad 9el ¢l $@ 8¢ ad it off gart
d TAY FEUeT g3 8, SR &1 SfRR Sl 9 Td @ § 39 My 3 Usd §gd $8 1 81 R 6 ot Fufass fag srdld 81 997 8, IR g0R faw v
Sfaer oY 1 g1 8, U T sfoer ol g e ok forass R & oivT foraidt

Q.No: 16 =1 & b wsz-qm 1 vaNT Iudfad e & TeY fopan mram ®2

A ESECS
B IR-IR

c -G8
D Ble-Bie

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

&= e AU U TR B Ued] OE U URAl & 9EY Ird Sk aTd [9hed &I 997 Hifond-

3fER & AR™ & Y § YR 7 3T IS Tol URH &t 3R 71 wH et &) afeat st yor awadnsil § wil g3 81 918 3137 994 81 a1 R, HRd
I Fft 3T I F o e A gerd ofR ot oft o 3 el @Y AR e R 39 2 i1 ot g9 guiT % UE g &l Sfd IR @ § SR YR T
Je HI T 1 @1 ]

TS g R IUTHRT BT I T 32 €, dl Hewl U hed 8, -TU SawR] & Gad &1l 399 i at-a<t Suafemt gurt ufder &= 38 81 a1 gas 3ot
R 3R FoAd ¢ 7 7 39 SR 3 IA 3R Ui Bt FHifeal &) WeR 3 ?

yfgsy & g fasmA &1 a1 99 ¥ 8 961 71 afc RO YAy 1 § dfth g9 o 99 IR-aR SIERId %8 § SR o g1 ot i SigRigd), S g IR
JFH | YR $! Ua1 BT 31 § ARA-FRIS! Nfsd Al S Fal BT FYDT HAAT © TRIs 3R ST I e, Siar iR /e &1 S{ard & fier
N O F I HeT fad @t I Teawie I R 5 R u sifw I oifg fire o) Ime a8 AR 1T 4T A Q) W o9 9% A ot oiftel # off g ¥ ok
3 i3 & a9 I SURT BIH T 781 SN 3R 3o BH URerd &1 BT 3R B3 ulkemy 1 81 a1fds &1 3o Iu-! &l WpR B TP | ) Jua
URd & fow & Ry & 3 O faza & forg oft §1 ofel 1S We &1 faeg srerT 16Y O I, wiife aft I ok AN Uw-gm ¥ 98t Fdedn ¥ 93 gu
g1 ifa B sifqurey w1 T 7, S ARe adadr oft efaured g1 Wl oft ofR famr off, org 3w g @1 Sle-Be fowdll # 6 afer o g&dr B

YRaay Ht a1 ¥ forae g wfafAfy 8, ordie 3 ava € 5 9 o wd faar & a1y 390 St & 91 ondt g Sfidien, 9 el Rl R
SIYRIYUT T THT g} &1 T8 Wdd YR BT HeTH Ui &1 § Slal 3P IR a1 3§ 0P |

ST I TF o T €, T O oA o Fafa 3 q fhan o oiR te R iR anf & 9oy & 91¢ YRd SINd 9 Wdd 9ol 81 $9 ge ab oof of gurt
T T FuehT g3 §, SR 5 S/ Sff 99 14 @ & 39 UM § Ugd 950 $© 31 o1 W e off fuifaes famg srcfla &) g1 7, SR g9 R we =
A 3R 81 9@ 8, Us U4 sfaer o g1 e ok forad ar & wv fera

Q.No: 17 ITad TR & SIUR, 3T U B YHR B & [7¢ gH T AT GRI?
A Bie1 aRsm ST R
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B ST 1 B
C AR gu dad <& i

D ArA-HRIS! Uifed ARl B Hal HAT ST
Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
fAEw: - fQu 7T TR B Uge) UR U UKl & e Sfud IaR arel fdde o1 9ae sifo-

SIE & SR™ & T B URA A U SfagH I URY Bt SR F 9 forat &t wfear suat Yo awhadredl § S g3 81 918 SiesT 9ad 1 A1 X1, URd
Pt 30 W F oot B R TS ofik el oft oo 3 aneRil @1 A afen o 39 wfaa i ot &1 g & UH g T ofd IR W@ § SR URd I
Qe 1 GIeT T @7 3

3T 9 o SUafsy T Id T 38 &, 91 89l TP $Had ¢, -TE 3R] & Gaq &1l 399 1 51-98t Iuafam gart ufden o I8! §1 31 g0 Sa-t
ekt 3R ST § 6 59 390 SR B 993 3R uiess & Fifaal B TR 3R 2

yias & g% 3 B3 a1 39 ¥ T ¥ 81 Sfces FRaR TR AT § difes g S g9 aR-aR SleRNd @ © 3R ROl g 3t o SR, 39 R
| HRT P Ja1 BT 34 § ARGI-PRIS] WS AN Bt Jal FRAT| 3PT Haas ¢ RIS 3R S 1 e, At 3R S/awR &1 e o fFer
BRI Wit & el TeT Afda @1 It Headmia B § 6 TR U@ offa § oifg fiie ot | wme a8 gaR o Svd A 81 )R 99 d@ arn ot siial 7 offg § iR
3 difsa € a9 I SHRT B T A8l I 3R IO TH RS BT G 3R Hid uRemT 1 8 a1fds &H 30 WUAT Pl WHR HR TP | aF Ju
URA & 0 ¢ R @ 3 QR =g & fow off §1 ol 1 e &1 oo SieT -Te1 Wi udhdl, Fifer GH I IR AN Uh-gak I §81 Havedl ¥ 98 §U
T =ify &Y iUty Fg1 T B, St avg Waaar o sifaursy g1 wufs ot SR famrer of, s 39 g ) Ble-B1e fovdt # Y |fer o W 1

YRATY &t oal & foraed g0 ufafAfd €, srfla 3 o § &5 3 smeur vd fawar & a1y 59 o d 981 onfl gos Sirelierr, 30y SraT geRl IR
SR BT Y9G T8 81 g5 Waa YRd &1 HgM AU ST § Wef 9P IR 9= @ TP |

ST Frad e off T €, T O oA o Fafa 3 a fovam o ofk ves R iR auf & oy & 91g YRT SINd 9 Wdd 9l 81 $9 ge a® oift off guri
od TN Ut oMl §, SIR B S/ Sl 99 1 3@ & 99 UM 3§ Ugdl 9gd $© $xl ol W e off Fuifaes famg ordfid 81 g1 7, SR gaR fow we =
Sfaer oY 81 99T 8, & U Sfoer ol g1 e ok foraes ar & & fora

Q.No: 18 Iwfe TRIiY & SIYR, §H Wefd HRd 1 He™ A 1 8 56l

A I9F IR = UG ISP
B I9F IR T E TH
C IHF IR T G G|
D I AR I 7 38 TP

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

fE=n: =i faU 71U TR & UeHR g U UKl & 9ed Iid SR a1 [ddbed &I 997 Hifong-

S8 & SR™ & T § YR 7 S0 SigH Tiol IR Bt SR 7 O fbail g1 Al 39t Hod Iwadnsil 3 w1l gs ¢ 918 3931 a9d gl a1 ¥, YR
Pt 39 G I SR = TR ger SR Pt oft oro 37 ol @ RT @ o 38 wfdd € ot 8 guiT & UE g &l ofd IR ) § IR URd GH:
Ye 1 G U1 36T B

3T 79 for Iuaied T Id T T8 €, A 78Sl TP $Had ¢, U aWR] & Gam &1l 389 +f a)-a8t Iuafemt gamt ufden o= w6 81 3 5o ot
Rt 3R ST § 6 59 30 SR B 993 iR ufiysy Bt Tifadl B Wer R 2

yfae & g5 faum 3 a1 37 F T ¥ 31 Sfcws FRaR TRy R § s g S g9 SR-9R SIeRId 8§ 9R fOrd g ot off Sigjiad, 39 I o
P | YR F1 Ja1 31 3 § ArAl-pRis! ST A P JaT BT TIDT AT © TRIa 3R SRl i fHern, Saieal iR SawR &t /| o fier
BN U & e weT fad @t g meawiet I ? 6 R ww oifa & oifg fire W) wmae a8 gER T THa 7 Q) R 99 9% i @t sifl # offg § &k
3 e € a9 I SURT HIH T 78] SN 3R AT gH IS BT SN 3R Bid— uReny BT 8 a1fds §H 31U IUAT Pl WhR B TP | ) Jua
URA & T § R uy & 3 O faza & fow off §1 ol 31 e &) e oie 18] i b, ife It I iR A Ua-gak A 981 Fdved 9 93 §U
g1 iifa &Y ifaursa weT T B, 330 R Taaar Hf sifaursy g1 9gie ot SR fammer off, s 5w g ) Bie-3ie fowi & Y sifer o wdhdr 71

YRday H ST I e g wlafAfy §, ordia 3 avd € 5 9 o vd favar & a1y 39 ot & 991 ondt o Sidie, 39T el gl R
SR ST YT T8l g1 85 Wdd HRA &1 HgH Af0 &A1 § 98l 39% IR 9= 3§ & |

T g To o 7 €, U O foA o a3 a fvan o ok wes IR R auf & Toy & 918 YR SINd 9 Wdd WSl 81 $9 g ab oif of guri
d Y U1 g9 €, SR T SRR Sl 99 1d @ § 94 MU 3 Ugd 9gd $© & ol R O oft Fufaes famg srdia €1 g1 §, ok a0 fow we
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N R A L O e T L A T S T L

e it € 1 &, O o SR Rl g i ol v i & i el

Q.No: 19 Iudad TR & SFUR, = & ¥ 3@ T &1 99+ Sifore-

A yiasg & g I &1 a1 <9 ¥ 711 d61 71 s MR v s

B 3T & o SUTfel 3T IHT 71 TR §, I 7ew U@ $aH 8, 7Y SaW| S G 31l

c T8 W YR PT T i H31 § SRl S IR 9 UG U |

D 3T Y G B fepel et &1 G Tobell, Fif Tt I 3R AT Toh-gk A w1 Fpear A 92 gL &

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

fgwr: Y QT 7T RN B gea) I U UKl & ged Ifd Sk a1 [abed &1 997 Hifong-

ST & SR™ & I g R A U 3fagH el URH B SR T oM forait  wfedt suet yor awhadrst § 48 g3 81 918 3reaT 9ad 81 a1 )1, URA
F Pt 39 G F SR = TE gers SR ot oft oo I o=l @ TR @ R 38 wfdd € ofret 8 guTT & Ud g &l ofd IR IR § IR URd GH:
T H1 DI 1 @7 R

SIS 9 for Iuais T 3d HF1 %8 ¢, 91 HeWl Uh $HeH ¢, -1U SAaER] & QGa- &1l 3899 | 31-a8t Suaiial gaRt uiaen o 81 ¢1 31 88 Sa-l
T iR Fhardr § o 0 3T SR $I JAS 3R YA B Al & WdR B 2

ufas & g3 I B3 a1 39 F T ¥ ¥1 Sfcss FRaR TR AT @ s g S 99 aR-9R SIeRId @ § 9ROl g ot off SigRiad, 39 1 @R
& | YR $1 Ja1 o1 2 § Ardl-prie! Tifed i B FaT BT TIDT A © TRIa 3R Ral i e, Sl iR SawR &1 A o fiem
TN O & I e fdd @t I Teawdie I R [ R w sifm I oifg fire o) e 78 gAR 1T Ha A Q) W o9 9% A ot oiftal # offg ¥ ok
3 e & a9 I TURT PH TH 78] ST 3R 3TN BH IS BT BT SR HidT uRem 1 81T @1fds BH S0 IUA! Pl WPR HR TP | I Ju
URA & o0 & IR A g1 3 R f9=a & R +ff §1 oral 1S Wa &1 facpa SierT a1 I Tobd], wiife Gt I 3R A1 UH-gak 9 981 Advedl ¥ 99 §U
g1 =ifd &) sifqursy we1 T B, S avg adaAar o sifavrsy g1 9ufs o SR fae of, s 39 g 1 Bie-s1e fewdt # e |fer o Wb g

URAT 31 Sar 9§ forae g0 wfaffdy 8, orlia 3 ovd € i 9 omer vd fawary & w39 i 9 81 onft 3o SiTaieHT, S SiaT @Rl R
SIYRIYUT T THT g &1 T8 W YR 1 HeH (Ui &1 ¢ Sal 3P IR = 3§ 0P |

31T o T ot T B, U U ot RO Frafa 3 7 fasam an SiR e R R ol & To & 916 URd SINd 9 Wdd 9l ¢l $@ 8g ab it off gart
T TR FIUhT g3 B, SR B SfRR Sff 99 A0 I8 € 39 UM § Ugdl 950 $© 31 81 W R off Fuifaes famg srfta 8 91 8, SR g9 R we =
SfaeT SR &) gl 8, TP U gfoer RO g9 e ok e ar & vt forgi

Q.No: 20 = # ¥ goarad T NG P T Hifone-

A Eaall
B Tt
C T
D LG

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

= A fou T TR B Ug@} U Y URAl & T Sfud 3o ardl f[d@wed o1 994 Sifo-

SIE & SR™ & WY B YR A U g Tl URY B SR 7 9 forait & afedr saat Yo awadrsl § 4 g3 81 918 3ies1 9ad g a1 X1, HRd
F Hft 3T I T o TP TEY gers ofR ot ot S/Ue I G HY ET YA foR S9 i <Y ST 9 GHT & T G BT Sfd HR 3@ § SR YRd TH:
Te P T T T R

3157 BH R IUaifR 1 IFd HT @ &, d Heol U dhed €, U 3(ae’] & Ger 11 359 +ft 9el-aet Suaiemt gart ufdam &% € 81 o1 558 3ot
et IR IFETA § 6 59 3 AR B 90 9fR Uias &t Al &1 WPR B ?

yias & g% 3 B3 a1 39 F T V5T §1 Sfees FRaR TR BT § difes g S g9 aR-aR SleRld @ § SR 1l g et +ff SRia, 39 R @
| HRT P Ja1 BT 3 B ARGI-PRIS NS ANl Bt JaT HRAT| 3YPT Haas ¢ RIS 3R S i e, HAea) ofR S/aeR &1 SrHmar & e
TR Wit & T Te e i I8t Aeamian K ¢ P W U@ oifg § 3 fire ot | wme 8 gAR N W9d 7 8 R 9" d@ ar ot il & offg ¥ iR
J fifsd € 99 9 TART T TH eI g1 3TR 3Afere 5 Uferm a1 S SiR Hi3 ufRem H1 S alfds 89 31U U= &1 WIHR HR b | a1 qu
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N R A L O e e L A Y T S L, T TR

YR & W § ROy @ 3 R faxa & faw oft 81 maﬂ%@aaﬁﬁ@mgﬁmm,Wﬂﬁ%@ﬁ??ﬁﬂ@-éﬂ%ﬁﬁéﬁmﬁg@@
T wifa B iUty HeT T 7, SR e WdAar o sifaursy 81 wmiE ot $iR faer o, ore 39 g ) Sie-B1e Rw # T sfer s b 21

YRday H a1 I forae g wlafAfy §, ot 3 ava € o5 3 o vd favara & a1y 39 ot @ 931 ondt g Sidie, 39T el gl R
QYRIYUT T FHY a1 &1 §H WA HRA b1 HEI [HIU BT & S6] 38 AR §=d 7§ b

ST frad ww of 7 €, T O foA o Fafa 3 q fvan o ok te R R oot & Yoy & 91¢ YR SINd 9 Wdd 9Sl 81 $9 g a® oift of guri
d Y U1 oM €, SR §H SRR Sl G99 T 3@ § 94 MU 3 U8d 9gd $© &1 ol W O oft Fufaes farg srdia €1 g1 §, ok e0R fow we
SfaET SR B Yol B, U U sfoer o g9 1 SR g ar & &nT forgil

Q.No: 21 = & ¥ aro forgd 71 @ o &1 1 9 8 & o v g 1 74 pifone-

A [RULEE
B ™E
c ERE
D fAffay

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

fE=r: Y QT 7T RN B gea) I U UKl & ged 3fd Sk a1 [ddbed &1 997 Hiforg-

SIe & SR™ & Y B URA A U g Il URY B SR 7 9 foraet & wfedr sa@t Yo Ihadrel § S g3 81 918 381 9ad g a1 @1, URd
F Pt 39 G F e = TR gers SR ot oft oo I o= @ TRT W@ o 39 ifdd €t oSl 39 gUT & UE g &l ofd IR IR § IR URd GH:
T P 9IS T @7 R

TS g T SUTfe T S T X8 ©, d 78S US Had 8, 71U SaWR] & G- 1| 309+t a<t-a8t Suafemt gaRt ufden o= I8! 81 31 04 3ot
i SR ST B 1o 51 39 SfawR &1 0 ok Wiasy 351 gifad! & WeR &3 2

yfersy & g% fasm &A1 a1 3 F T S §1 9fcs FROR T 31 § 1fs g S 99 IR-9R SIeR I8 § iR RO 81 et off e, S8 @1 o
¥ | YR 31 Ja1 31 3 § ardl-prie! Nfed Ol 1 JaT BT TIDT AT © TRIa IR IRl i fHerT, Sl iR awR &1 /amd o fiem
TARY Ui & T HeT afdd B Uel Headial T6 § b 8% U ofi F 3if fire W) wmge 7 BN T Ha | 81 IR S a9 il bt sifal 7 3ifg § ok
3§ Uifed § I8 I HRT BT TH 7T a1 IR SUiig 8 UReH ST ST 3R B URem 1 SN a1fds B9 309 IO+ 1 PR B 9 | @) 9o
URA & o & ROy @ 3 @R faxa & faw oft §1 o 315 e &1 faepa s =16t e o, wiife @t e ofik T uh-gak ¥ ot Aded ¥ 98 §u
g1 2ifd &) sifqurcsy wg1 T 7, St avg wadaAdr off sifaursy g1 9nfs o S8R fae of, o9 39 g 1 Bie-Bie fewdl & e |fer o wwhdn g

YRAAY &I Sa1 ¥ e ga wfaffy €, onfid & vd € & 3 omer vd faxarg & iy 59 S 9§ 981 onfl go8 STaieT, 0 3raT gaRl R
SRVl T YT el §1 85 W& YR BT HelH (AAT0 BT § ol 9P IR a3 3§ & |

STl ford T o 7T B, U U ot ROy Fafa 3 7 fasan an oiR e IR iR anf & To & a1 WRd SINd 9 Wad 9l ¢l $9 8e ab it off gart
»d TAY T oMl §, SIR 51 SfRR Sl 999 Td W § 99 UM 3 Usd 9gd 38 & 8l R U oft Fuifass farg sl &) 991 §, oIk g0k fow w7
fIER SR 81 Yol 8, U U4 3faerd o g9 1o &R e ar & @i forail|

Q.No: 22 IRfad el & SUR, §IRT Ul & Tad He™ fed 3t o1 Heaaian &t 82

A % TR 0P Afda q&RIuo H

B o & U sifg § 3iig fire sl

C & R & K AR 5 &0

D & & o aiea o1 3u@1 Of SR fira S

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

g 9 fou T TR B geeR U U kAl & T Sfud ok ard fdwed a1 99e Sifo-

SAE & IR™ & Y g URA A (U g It URY Bt SR 7 9 forat & wfear saat Yo awhadrsll § S g3 81 918 31T 9ad 81 A1 R, URA
F Hft 3T I T o T TET gers SR ot ot SR I SIGRN HY ET YA for S9 ifaa i ST 9 G & U G B Sfd BR Xg § SR YRA TH:
Je HI T U7 @1 7
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N IR S At L A e e L A o L, T TR

m@mm@faﬂmm@ﬁangx—srqa?m%,Wm%@mlmm@-@wmmw%w%wsnﬁsa'—ﬁ
wfdd SR gfsHar 8 6 g0 39 SiawR &) 9Hsl 3R Hidw 31 Ffadl ) WeR 3 2

yfersy & g% s &A1 a1 39 F 6 93 81 afes AR T &3 € i g9 S 99 IR-9R SleRid 38 § iR RO 81 et off Sievidd), S8 i o
| HRA P a1 BT 31 § ARGI-DHRIST DS Al Bt Hal HRAT| SHDT HAdd ¢ TS 3R S BI e, SAieat sk S/awR &1 SR & fern
AR Wil & Fe A Sl B Tg! He@wbian 81 8 1 8 U 3ifa I 3ffy fire S| wrae 98 gHR g Wvd 71 81 | o deb ol ot offl # 3ifg 8 ofik
J 1ifSd § a9 I SHRT HIH T -Tel N 3IR ST T8 TS BT T 3R Big-T IRem 1 BT A1 §H S0 WUH! Bl WHR HR TP | a1 Jo
YR & T § RIA @ I R 9za & W off §1 o B e &1 e e 61 Wi udhal, Fife G I IR A Th-gik & 781 Fdvedt ¥ 9 §T
&1 2ifay 31 sifqurea Fe1 w7, 33t avg wadadr o sifaurs g1 wufS ot SR famr oft, s 3w g @) Bie-sre fet # Y |fer o Wb g

YRAAY &1 oal ¥ fordes g8 wfaff 8, srdla 3 ava 8 6 3 e vd fazara & 91y 39 i & 991 onfl Jo0 SiTaieHT, 30T 3raT gRRl 1R
SR T AT TET §1 &H el HRA 1 A (AU BT 8 W6l I AR &= @ Wb |

S Fiod 9H off M1 3, U U fo oy Fafa 1 9 e o1 iR T R R auf & 9uy & §1¢ YR 9IFd @ o Gal 5| $B ge do o ot garT
Y TAY FITeT oMl 8, SIR BH SR Sl 99 Td ) § I9 UM 3 T80 9gd $© &3 81 R U ot Fuifaes g sl &1 991 3, SIR 88K faw w7
SRR SR B I@1 §, T T Sfoem ROl 87 e ofR forass I & ar fera

Q.No: 23 I & q -9 Yec YT BT TGN SR ST T 82

A EINED
B ST
c SUgH
D R

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

1 BT B TgdhR IH T U F Fa9 IR IaR a1 fAdhed b1 9 Bifo-
37 TE1 fd I gard|

9 - R0 H13Y TS |,
FiA-HgH I 7Y o §,

el - ¥ SRl A Wl $ e o
37 g1 A Pl Jand|

MR §, BT,

BISH HgH W, TRT B BIS IR |
37 T 3fd I Jani|
RSG5l SHPR Tg -

el BT IS TSI ¢, AT H deb |
31 381 Ifd P Fard|

Q.No: 24 wIedl & fget IuAr & 7 37

A A9 - foxu ot
B ST Bt

C ¢ &t

D STRI B

Correct Ans : D
Subject : Hindi Bhasha 01
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 8/64
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Passage:

ISR ST B Ugax I@ TN T=Al & ol SfEd Sk ardl fdded BT 997 Piforg-

31 361 A H Fari|

79 - {30 &1 Y Tl g,
PIA-$TH q TY ol B,

e - ¥ SR A W@l BT U uRt
31 Tg1 fd I gard|

M R €, Hid-TH,

g A Hifl, IRST T Bier g
SIRGREKIRICIN]
e, I8¢ faor @g,

R f&aehdl SR Tg -

A BT T \ST B, AT H TR |
31 T@1 Xd B gari|

Q.No: 25 3 I Id BT Il 54 Fe1 82

A w
B g
c =T
D ar

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

ST HIHY &) UgaR B T U= & gad Sfd SR aidt f[dwed &1 = Sifor-

311 381 X4 BT Fari|

9 - TR 1 Y 6l B,
FfA-HgH J Uy ol §,

el - § SRl A Wl 3 0w o
KIRGECI RS
fergT, wdl ok =R,

G &, Bifd-Te,

Blg®HR HeM HR, IR BT B TR |
31 T8 Ifd I gard|

R foaehdr du®R I8 -

3 1 I W1 ¢, I H Fepx |
31 I8! XJ B g

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 26 WIg # @Wer fHwarl & ey § -

A Gk
B T
€ Uk
D Ebo

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

ST ST BT UG U@ TN WAl & Jad SfEd Sk all fdeed &I 994 $iforg-

37 g1 Ifd 1 gard|

74 - BT BT Y ol B,
FiA-Hgd I Ty Iqo §,

Fred! - ¥ SRl A Wl B U o
31 381 Ifd H Fari|

MR §, Bif-TH,

BISIR AgH Wil TR $ BIeT GRT
31 g1 3fd PI gard|

R fEEehdr SR TE -

A BT I TSI 7, AT H Fa% e
31 381 X4 BT Fari|

Q.No: 27 "UIRII&" HT qgdd- g
A =

B R

C Lol

D LINED

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

ST ST &) Uga IR T U & Jo9 Ifd SR aet f[Ased &1 984 Bifor-

3T 81 A B Fard|

9 - TR0 &1 7Y T3,
FiA-$gd I Ty ol §,

Fredl - ¥ SgeRi 7 Wl Bl Ui oR|
SIRGRECI RSN

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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an%‘%aﬂﬁfﬁm o o r
BreHR AaF Uih, TRS! B B IR

31 381 A 1 Fari|

e, Io faor @g,

R fEaehdl ST TE -

A BT IS WeT 7, I H F9: Rt

SIRERICEIRICIN]

Q.No: 28 "Iguf B Granes YR F QW weg § -

A L INiGY
B UInl
C E4l
D @

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

S FTH B UgHR IR TN U F JaY SFId IR ard fddmen &1 999 Fif-
31 81 Ifd 1 Fari|

79 - TR 1 3y 91 3,
FIA-FGA T 7Y T €,

el - § SRl A Wl $ e o’
31 T8 Ifd I gard|

M @ §, Pifd-TH,

BigaR figH Wifl, TRST I wIel G|
31 T8 Ifd B gard |
Tredl, I8¢ 4o &g,

R f&Gepdr SR Tg -

3 BT I W ¢, I H F7ehr |
31 T8 fd BI gari|

Q.No: 29 ,fa" o1 gafuarE weg T g
A Uiy

B w

o feee

D HIg

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/64
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T TR ST R R W TR SRR R

S SIS B UgaR I8 T U= & Gad IRd SR adt [dded &1 7

37 T Ifd I gard|

9 - TR0 &1 Y O |,
FiA-HgH 7Y A1 B,

Freal - F SRl 7 @l B e oR|
31 381 Xfd Bl gard|

R §, Hifd-e,

BIgHR AeM MR, RSB BI HIel TRT|
31 @1 Ifd &I gard|
g, S8 fawd g,

R foaehdr duedR Ig -

A &1 ISl |91 €, T H s
31 g1 QB Hari|

Q.No: 30 d1& "M g §" B Yd®rd & $y @
A M

B MR B
o M B B
D Mgd g

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 31 Find the sum
2461496 545 5687

an
2998 8992

T FT JaT Fa ?
6346 3687
8993 2992

1293
8178
1293

g1ve

1611

8790

1611
8790

12233
29982

12233
8998

D 7524
6861

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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7524
6861

Correct Ans : C

Subject : Mathematics

Q.No: 32 94%, of the cost of a TV is Bs 10464,
2461523 <vyhatis its total cost?

U ¢1d] I BITd BT 96% 10464 ST 5|
P P AN 1 87

11800

11800
12000

12000
10800

10800
10900

10900
Correct Ans : D

Subject : Mathematics

Q.No: 33 The excise duty on a certain item has been reduced to Rs 760 from Rs 950. Find the reduction per cent in the excise duty
2461525 o that item.

TF Fidd T | 3G Yob 950 I ¥ TR 760 IUY T 41 7 3. I g | IdIE Yeob | B! TR 1d Bifor|

40%
A

40%

20%
B

20%

19%
C

19%

30%
D

30%

Correct Ans : B

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/64
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Subject : Mathematics

Q.No: 34 Find the average of 3, -7, 6, 12, -2.
2461526

3, -7, 6, 12, -2 &I 3{9d I NI

2.5
A

2.5

2.4
B

2.4

2.8
C

2.8

2.2
D

2.2

Correct Ans : B

Subject : Mathematics

Q.No: 35 Find the average of 6, 13, 17, 21, 23
2461527

6, 13, 17, 21, 23 . &1 3G F1d BIfoT

16
A

16

10
B

10

17
C

17

19
D

19

Correct Ans : A

Subject : Mathematics

Q.No: 36 Find the average of the first five even numbers.
2461528

gl Ui 99 GBIl &7 Sid F1d B
A 7

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/64
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6
B

6

8
C

8

9
D

9

Correct Ans : B

Subject : Mathematics

Q.No: 37 The average of five events is 66. And an average of 2 events is 70 and average of last two events is 65 find the third
2461529 pumper?

Ui ge1sf &1 3Nd 66 g1 IR Ugdl &1 geqd 3fd 70 § SR Sifam &1 gemsii &1 3ied 65 §1 IRl T 91d Fifee?

50
A

50

60
B

60

70
C

70

80
D

80

Correct Ans : B

Subject : Mathematics

Q.No: 38 Average age of three boys is 20 years. If the ratio of their ages is 2:3:5 then the age of the youngest boy is?
2461530

T ASHT BT A oG 20 TY B TG ITHT 3R BT UM 2:3:5 g, Al TG4 B AP DI 3 §?

19 years

A
19 o
15 years

B
1599

C 9 years
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o9y

12 years

1295

Correct Ans : D

Subject : Mathematics

Q.No: 39 The average age of 20 players of a football team is 24. The average of 8 of them is 21. What is the average age of the
2461531 remaining 12 players?

U Peald i & 20 faanfsdl o oiid o)y 24 g1 8 $1 3M4d 21 §1 AV 12 fIarisdl &1 sid g &1 32

26
A

26

28
B

28

22
C

22

30
D

30

Correct Ans : A

Subject : Mathematics

Q.No: 40 Which among following number is divisible by 26?

2461544
fofafad & 9§ o @ T 26 § faursa g2
846
A
846
754
B
754
592
€
592
655
D
655

Correct Ans : B

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/64
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Q.No: 41  Which among following number is divisible by 26?

2461545
Frafafea 7 9 o9 @ 9B 26 ¥ Ay 32
4258
A
4258
2002
B
2002
1125
C
1125
3326
D
3326

Correct Ans : B

Subject : Mathematics

Q.No: 42 Check which number is divisible by 18.

2461553

S T 18 § fursa 71

93636
A

93636

73522
B

73522

64432
o

64432

55354
D

55354

Correct Ans : A

Subject : Mathematics

Q.No: 43 Which of the following is divisible by 24?
2461569

fafafad o 9 o1 24 I fIures 87
A 652678

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17/64
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652678

778912
B

778912

987452
C

987452

7913400
D

7913400

Correct Ans : D

Subject : Mathematics

Q.No: 44 Which of the following is divisible by 18?

2461570
Fraffea & 9 o1 18 ¥ faursy 82
129804
A
129804
654776
B
654776
657232
C
657232
127548
D
127548

Correct Ans : D

Subject : Mathematics

Q.No: 45 Which of the following is divisible by 6?

2461586
frofafad & 4 o9 6 I faursy 82
643132
A
643132
99752
B
99752
22896
C
22896

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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88265
Correct Ans : C

Subject : Mathematics

Q.No: 46  Which of the following is divisible by 8?

2461587
faffed # 9 o1 8 3 faursa 82
828272
A
828272
874690
B
874690
87542
C
875424
75458
D
75458

Correct Ans : A

Subject : Mathematics

Q.No: 47 Find the largest fraction of the following fractions?
2461609

frafarad el § @ 9ed ot e 1 ifoe?

111

130

111
120

41

76

41
76

Do
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Correct Ans : D

Subject : Mathematics

Q.No: 48 Find the smallest fraction of the following fractions?
2461610

frafefed firal @ @ wed 8id fie 91a wifon-

15
34

23
36

23
56

33
11

55
11

Correct Ans : C

Subject : Mathematics

Q.No: 49 A cuboid is of length | unit, breadth b unit, and height h unit. the lateral surface area of cuboid is?
2467574

TS | ST, TS b IS 3R A h 3PS B TP T T T 1 U1l gHia et 32

21 (h+b)
A
21 (h+b)
2h (1+b)
B
2h (1+b)
c Ibh
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lbh

Ib+1h

Ib+1h

Correct Ans : B

Subject : Mathematics

Q.No: 50 A cone have height h unit and radius 2r unit. Find the volume of cone.
2467575

T WP Bt HaE h 56T 8 SR BT 2r TP 31 P PT SR T BITY

1,
= muh
3

Correct Ans : D

Subject : Mathematics

Q.No: 51 What is the ratio between the area of a square and the area of the square drawn on its diagonal?
2467635

TF i & &ABd IR ITF A0 W a9 o & &A% & &g BT U R 82

2:1
A
2:1
1:2
B
1:2
V2:1
C
V21
D
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1:4/2

Correct Ans : B

Subject : Mathematics

Q.No: 52 The ratio of diagonals of two squares is 2 : 3, the ratio of their area is:
2467636

3 I & 3Pl 1 3UId 2 : 3 §, 3% &AGA B U o:

4:9
A
4:9
24/2 : 342
B
242 1342
‘\E:\E
C
V2:4/3
3:27
D
3:27

Correct Ans : A

Subject : Mathematics

Q.No: 53 The process by which area weakness of a child in Maths is identified, is known as-
2468423

5 ufehar g1 T ® U 9= & HHGIR &3 B UgIHl ST §, Hedrd 8-

Written work

A
fofea orf
Oral work
B
s o1
Remedial work
C
SRS S
Diagnostic work
D

i P

Correct Ans : D

Subject : Mathematics
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Q.No: 54 Shailja can express a number in different ways. For example 4 =2 + 2 or4 = 1 + 3 etc.
2468424
In which developmental phase of numbers is she?

Sieron fpeht T &) F-d THR J ofed R adl ¢ | SR & filt4 = 2 + 2374 = 1 + 3 33|
I8 el ¥ g ferarers R # §?
Quantifying phase

A
HATHS RO
Partitioning phase
B
ferHTSRT =R
Factoring phase
C
UEUS TR0
Calculative phase
D

TUMTHP RO

Correct Ans : B

Subject : Mathematics

Q.No: 55 In a math class, a teacher should not be favoured
2468443

TIorT BT e H, T R o) TgragHd 6] g dgu

Assessing the gap of previous knowledge of students

A
BE & frsd I & SR BT Sfibad s
Connecting concepts to real life
B
YRS P RIS Sia § ST
Concentrating on bright students
C
ISad BH W A Bigd S
Motivate to students
D

BRI AR B

Correct Ans : C

Subject : Mathematics

Q.No: 56 As per NCF 2005, “mathematization” should be the main goal of mathematics education to children.
2468444

Mathematization means:
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T SRS SR T e s e R s S T T —m T T T T — T R RS R =

NCF 2005 & SR, "o g=ii & U T1iord w1 Rigm &1 g7 &g g =ifeul
TR &1 o &

Mathematical representation

A
TR vexH
Reasoning and abstraction
B
T SR Sl
Logical conclusion
C
aifh® Frepy
All of the given options
D

few @ mbt fiwe
Correct Ans : D

Subject : Mathematics

Q.No: 57 Giving assignments in mathematics to the student is the

2468470
o A e sl e g §
Technique
A
GEZica
AV aids
B
Tl TER
Principle of teaching
C
Rreror &1 Rigia
Maxim of teaching
D

fRreqor & Ay
Correct Ans : A

Subject : Mathematics

Q.No: 58 Choose correct response, the five percent of 125 is 6.25 (True/False). This type of question related to
2468471

el faded g, 125 &7 5 UfA=d 6.25 § (/) | 39 USR & U fbad Taifda §-

Alternate response type

A
BT IR TSR
B Completion type
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YHYT UPR

Simple recall type

IR RO PR

Multiple choice type

vg-fawaiig teR
Correct Ans : A

Subject : Mathematics

Q.No: 59 ™“Every child gets opportunity to learn according to his ability and capability” is a characteristic of

2468472

R T B ID! AT 3R &Hdl F AR YRa $T 3R T ¢ 98 U fagwarg

Self study in mathematics

A

TN & & H W e

Supervised study in mathematics
B

i # AR srera=

Good assignment in mathematics
C

T & & H a1 B

Brain storming in mathematics
D

o & feia
Correct Ans : B

Subject : Mathematics

Q.No: 60 The major defect of lecture strategy in mathematics is-

2468496
TR SURST U T U SN §-
Passive class
A
ffspa wan
Unpsychological
B
R-vFaS
Lack of motivation
C
IR0 31 FHHt
All of the given options
D

few M mh fawer
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Correct Ans : D

Subject : Mathematics

Q.No: 61 The objective of Environment studies is:

2469331
feaRUT 3T BT Ie¥Y §:
To raise consciousness about environment conditions and to create an environmental ethic sensitive society
A
gfeRul it fRUMY F IR H SITRSPaT ST Ud Uaiavyr $ Uiy Sag=id JATS & FAmior e
To teach appropriate behaviour
B
e sAaRR Rearn
To create sensitive society and understand humanity
c
g TS 1 fAmfor e SR AFaar S wHgE
Importance of value education
D

Hed e &1 "
Correct Ans : D

Subject : Environmental Study

Q.No: 62 Which of the following is management option for air pollution?
2469332

g UGWOT & fore fAufoia & & ® 1 geeH e g2

Regulate transports planning using clean fuels

A
o5 $u BT IUANT b URae ol Bl Fafid s
Excessive use of CFC
B
CFC &1 3t Suant
Discharging smoke through chimney
C
et & A 9 Yot e
Incomplete burning of wood
D

B! BT T G5
Correct Ans : A

Subject : Environmental Study

Q.No: 63 A large number of interconnected food chains in an ecosystem together forms a to establish ecological balance :
2469351

T RIS & & a3t T 7 SSt I gaan fHaex I 8 R nikfRufae Sqa wafta g @:
A Water cycle
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SIeT Th

Inverted pyramid

B
Il foRifes
Food web
C
re e
Pyramid
D
it

Correct Ans : C

Subject : Environmental Study

Q.No: 64 Which of the following are the major environmental issues involved in mining?
2469352

T e Wi qaiaRoig g, PAofafad § @ a1 82

Depletion of forest and the disruption of the ecology

A
ST BT SR Ukt @1 fareret
Heavy rain fall
B
HI e
Fertility
C
IRar
Biodegradation
D

Sa-fedieRor
Correct Ans : A

Subject : Environmental Study

Q.No: 65 Total biomass of living matter in an ecosystem in an area at any given time is called-
2469387

farddt &1 & fopdt Rfdra T wR ot uifvcsr & Sitfad uerd &1 oot ST Heard §-

Standing crop

A
T BEA
Standing state
B
TSl SR
C Humus
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R0 T G

Detritus

e a1 fefeew
Correct Ans : A

Subject : Environmental Study

00 ol coar wa Tueas ST T

Q.No: 66 The sequence successional stages occurring in water is known as-

2469388

A | 8 9T i RIS & HH B T HEd 82

Thermosere
A

YARR

Wetland
B

Sy

Hydrosere
(o

TRGRY

Grasslands
D

U9 & AeH A

Correct Ans : C

Subject : Environmental Study

Q.No: 67 A herbivore can also be called as a:
2469389

& AHERI $1 g8 1 HeT o Il o
Producer
A
At
Primary consumer
B
RIS Ui
Secondary consumer
C
Tl S
Tertiary consumer
D

Tl Sae
Correct Ans : B

Subject : Environmental Study
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Q.No: 68 Which among the following acts states that it is illegal to deliberately take, damage or destroy the nest of any wild bird
2470526 \yhijle it is in use or being built. It is also illegal to take or destroy the egg of any wild bird.

e § 9 oF a1 HfFae wgdr g [ fodl off et gell & 9iae B STH S2Iax T, JHAM UgaHT a1 98 61 3fdd g, Siaid 98
AT & T A1 SR S @7 ¢ foeht oft Sivreft weft o7 ofeT A a1 A% R ot TR 7

National Primary Strategy (1981)

A
IS TyfAe UM (1981)
The Wildlife and Countryside Act (1981)
B
e SiR amior e SififEe (1981)
The Wildlife Conservation Act (1981)
€
I Siiq IRewr ST (1981)
National Conservation Act (1981)
D

P HRe ST (1981)
Correct Ans : B

Subject : Environmental Study

Q.No: 69 Among the following, which place is known as ‘cold desert’ in India?

2470527
Frafarad # 3 yRd # 59 RIF &1 381 #ya@ $l Il 32
Darjeeling
A
ISR
Assam
B
A
Ladakh
C
SEUC)
Rajasthan
D
ROTRITE

Correct Ans : C

Subject : Environmental Study

Q.No: 70 Which among the following birds work in pair to build their nest?
2470528

fafafad & ¥ 919 31 gelt AT Hige 59 & e Siel § 1 $var 82
A Sunbirds
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Crow
B

B

Koel
C

A

Swan
D

Lea]

Correct Ans : A

Subject : Environmental Study

Q.No: 71 The Archaeological Survey of India (ASI) was established to initiate
2470632

YRR QRIcTd T 01 (TTHSATS) BT RITGAT febiap forg 6t 718 o

Conservation of cultural heritage among the people

A

ATl & st Fieplae farad o1 wRew

Legal provision to protect the historical structures all over India.
B

R YR & WfaeiRies TRa1sH B 6T & o1 ST wraerl

Environment conservation
C

TfaRuT TRE0T

Water conservation
D

CEE G
Correct Ans : B

Subject : Environmental Study

Q.No: 72 Birds that line their nests with leaves that have anti-bacterial properties are known as?
2470633

3 0l St o dreel B U § g 3 Rl oarg] Ak U1 8 3, wean 82

Ostrich
A
Starlings
B
et
C Woodpecker
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Peacock

AR

Correct Ans : B

Subject : Environmental Study

Q.No: 73 According to the World Health Organisation (WHO), *
2470703 gnd prevent the spread of diseases.”

% R WS (SIS & SR,
v 39 fufodt ok mureli @ Tefifa SR § S W oY sHIE [aH 3R H91El & TR & A% § Heg Hd ol

Sanitation
A

H=ydl

Open defecation
B

g A

Lifestyle
C

diefigs

Hygiene
D

Tl

Correct Ans : D

Subject : Environmental Study

Q.No: 74 What is the meaning of WASH
2470704

WASH o1 &1 313 §

Wa— Water; S— Sanitation; H— Hygiene

A

- IFY; Y- Weodl; Th- Wwodl

Wa- Waste, S- Sample, H- Handling
B

q1-SURTE, TE-TH, TI-gSfi

Wa- Washing, S-Soap, H- Hands
C

ql- YIs, TH-EIg, TI-Ged

Wa- Wash, S-Sanitisation, H- Hands
D

a1, TH-AFeRST, -ty
Correct Ans : A

Subject : Environmental Study
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Q.No: 75 The USA is the country to send humans into space.

2473869
TSIt Y 3iaRer H Ao aTe Ia sy ARG R
first

A
ugdl
second

B
Sl
third

C
LIS
fourth

D
LI

Correct Ans : B

Subject : Environmental Study

Q.No: 76 Who was the Prime Minister of India when Indian Space Research Organisation was formed?
2473870

YR ARl STH TS S RITTAT & T URd & T Wt S 42

Jawaharlal Nehru

A
SRR e
Lal Bahadur Shastri
B
T TBIGR et
Indira Gandhi
C
ey et
Morarji Desai
D

ARRS 81

Correct Ans : C

Subject : Environmental Study

Q.No: 77 Which of the following category status was awarded to the Antrix Corporation in 2008?
2473871

2008 F iy SraReH & fAafafad & & g ot &1 &= faar mn ure

A Navratna company
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TR B

Maharatna company

B

HER B!

Miniratna Category-I company
C

foriRa gofi- 1 ot

Miniratna Category-II company
D

forefie Aofi- 11 U

Correct Ans : C

Subject : Environmental Study

Q.No: 78 In which year did the Polar Satellite Launch Vehicle or PSLV have its first ever successful launch?
2473898

H.0a.Ta.dt. (TR Jearse A Fed a1 Yha STIE THES IHT) BT TSl 9w GaT g I e ur?

1991
A

1991

1994
B

1994

1995
C

1995

1997
D

1997

Correct Ans : B

Subject : Environmental Study

Q.No: 79 Recently the satellite Amazonia-1 was launched by ISRO’s Polar Satellite Launch Vehicle (PSLV) in February 2021. Which
2473899 country does the satellite belong to?

B1d 81 § WG SHSIFI-1 (Amazonia-1) &1 FIRT & .0 Ter.dl.
(IR IcATZe - Fea a1 Y IWIE YHES Ade) GRI TRAS) 2021 H @i 691 T o1 98 IUE 9 3x1 ¥ Uaifta §

USA

A
e T ARt
Canada

B
CEI)

C Brazil
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EISIG)

Mexico

A

Correct Ans : C

Subject : Environmental Study

Q.No: 80 Which of the following Polar Satellite Launch Vehicle (PSLV) launches was unsuccessful?
2473900

fofafea § 9 oF o fLow.a.d, (A deage da Sod a1 ydia IuUg THhs Adbe) Tl SRIhd 812

PSLV-D1

A
.59.ta.d.-dl1 (PSLV-D1)
PSLV-D2

B
H.uw. @, d.-312 (PSLV-D2)
PSLV-D3/ IRS-P3

C
I 0. Uerdl.-3T3/31T5.3TR.UF.-913 (PSLV-D3/IRS-P3)
PSLV-C1/IRS-1D

D

T U, TeT.dl. - g1 /3115 3R TH.- 13T (PSLV-C1/IRS-1D)

Correct Ans : A

Subject : Environmental Study

Q.No: 81 What is the height of the Polar Satellite Launch Vehicle (PSLV)?
2473901

H.ug.va.dl. (dier dearge di @i a1 Y IuUg THEE Adbe) Bl HaTs bl 87

38 m
A

38 i}

44 m
B

44 Hex

50 m
C

50 Hiex

56 m
D

56 Hicx

Correct Ans : B

Subject : Environmental Study
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Q.No: 82 In which year was the NewSpace India Limited (NSIL) incorporated?
2473902

Ty fear fafies (NSIL) &1 foew adf o wifga faran am are

2013
A

2013

2015
B

2015

2017
C

2017

2019
D

2019

Correct Ans : D

Subject : Environmental Study

Q.No: 83 As of January 2022, who out of the following is the Chairman and Managing Director of the NewSpace India Limited (NSIL)?
2473903

SHas) 2022 @, Fafafad § § $19 0w gfear faffies (NSIL) & sreer iR vey Fee €2

A. Arunachalam

A
T RUMTH
Radhakrishnan Durairaj
B
TP RSl
Neeraj Sinha
C
iest Rt
M. Maheshwar Rao
D

TH AR @
Correct Ans : B

Subject : Environmental Study

Q.No: 84 Which of the following statements about Geosynchronous Satellite Launch Vehicle (GSLV) Mk II is NOT correct?
2474171

YIEPT IUUE YHED Jbe AT 11 (SN, TH.TA.dl. Ald 11) & aR H Fafafed & § 11 91 $37 I8 181 82

A Developed under the Cryogenic Upper Stage Project (CUSP), the CE-7.5 is India’'s first cryogenic engine,
developed by the Liquid Propulsion Systems Centre.
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PRI JU TR0 UGS (.5, 79.0.) aaaaaﬁm;, #.5.-7.5 mmm%mmﬁuﬂ%m%mméﬁq%

One Vikas Engine is used in the first stage of the GSLV Mk II.

B
.09 Ta.R. A71F 11 & Ued RO H TF P §o BT IuanT far o g
The first stage of GSLV was also derived from the PSLV's PS1.
C
off.qw.ge. dl. &1 ugar wRor f fow.ga . & dow 9 fewm A
Each liquid engine strap-on uses one Vikas engine.
D

TS TR §o RU-3T U G S0 FT IUGRT el g
Correct Ans : B

Subject : Environmental Study

Q.No: 85 In which year did the Geosynchronous Satellite Launch Vehicle (GSLV)-Mk III successfully place GSAT-19 satellite in orbit?
2474172

YIS STIE THES e A 111 (SF.TH.TA. 41, A 111) 7 fhd 98 Ihadrgdd sieie-19 (GSAT-19) SUUE &I Hal T 1t faar?

2014
A

2014

2016
B

2016

2017
C

2017

2019
D

2019

Correct Ans : C

Subject : Environmental Study

Q.No: 86 In which year was the Reusable Launch Vehicle - Technology Demonstrator (RLV-TD) successfully flight-tested for the first
2474173 time in India?

YRd ¥ Ugal 9R JH: STERT UHAS Ahe-Taifid! Ueid (3R, TA.41.-3.8l.) &7 Thadyad I8 URIE0l fog aef foar o

2011

A
2011
2013

B
2013

C 2016
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2016
2018

2018
Correct Ans : C

Subject : Environmental Study

Q.No: 87 What are the tips that will facilitate creative expression?
2477280
1.Encourage teamwork, yet give individual attention to each child

2.Create a non-stressed but competitive atmosphere in the class

T ifiyoafaa @1 gfaeT ver H ara gidat = 82
1.8 9 &I Tidlied ®Y, R ot 7d® 98 W Al @F €
2.8 7 U IR-araquf &1 wfereaelf arem et sy

Only 1
A

Fad 1

only 2
B

Fad 2

Both 1 and 2
C

gHf 1 3R 2

Neither 1 nor 2
D

T 1R 2
Correct Ans : A

Subject : Environmental Study

Q.No: 88 Which of the following is NOT correct in respect of creative expressions in EVS?
2477282

vy 3§ e sifteafaadl & dey & Rufif@d 3 3 oF o ud T8 22

Creativity stimulates learning

A
T U Bl SRR Bt §
The process of divergent thinking deters creativity
B
Tl I B ufthar TEeSdl & Sfd Bl §
Creativity can respond to environmental issues
C
TPl TEiaRUNY HE) 1 SdTe & Gobdl §
D Creativity enhances the ability to manage change
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TSl URAd Bl Wi H P1 &l B gerdl 8

Correct Ans : B

Subject : Environmental Study

Q.No: 89 Consider the statements given below:
2477284
i. Create a non-stressful atmosphere in the class.
ii. Create a fun-filled learning environment for the children.

The statements are related to

2 3T T Al R AR B

i) Fefl § T IR-aaqYl AT S

ii) It & forg YR 71 U HOIGR HIgld §d|
FU J Heifd €

Tips for facilitating deductive method

e Ol @1 geyee TR & fou o

Tips for facilitating creative expression

TS sHfefad ot gfaer & ferg gfeaar

Tips for Demonstration technique

TSR d-ie & g gfdmr

Tips for Skill development and entrepreneurship

PR e ok Saftar & i gam

Correct Ans : B

Subject : Environmental Study

Q.No: 90 Which of the following is/are the limitations of source method.
2477286

i. No easy access to original sources

ii. Too complex and technical

Choose the correct code

A fafy o7 Jrnell 37 fifga B
i, g Gl a3 g et
ii. 9gd difcd SR adbd!
Onlyi

A
Faai
Only i

B
Fad ii
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C Botn 1 ana

i 3R ii ST

Neither i not ii
adri Tii

Correct Ans : C

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Dear March—Come in—

How glad I am—

I hoped for you before—

Put down your Hat—

You must have walked—

How out of Breath you are—

Dear March, how are you, and the Rest—
Did you leave Nature well—

Oh March, Come right upstairs with me—
I have so much to tell—

I got your Letter, and the Birds—

The Maples never knew that you were coming—
I declare - how Red their Faces grew—
But March, forgive me—

And all those Hills you left for me to Hue—
There was no Purple suitable—

You took it all with you—

Q.No: 91 ‘The Maples never knew that you were coming’. What does the word *Maples’ mean in the given poem?

A An animal living in trees mostly
B A fruit with sour test

C A tree or shrub with lobed leaves
D A grass with long height

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Dear March—Come in—

How glad I am—

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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I hoped for you before—

Put down your Hat—

You must have walked—

How out of Breath you are—

Dear March, how are you, and the Rest—
Did you leave Nature well—

Oh March, Come right upstairs with me—
I have so much to tell—

I got your Letter, and the Birds—

The Maples never knew that you were coming—
I declare - how Red their Faces grew—
But March, forgive me—

And all those Hills you left for me to Hue—
There was no Purple suitable—

You took it all with you—

Q.No: 92 I declare - how Red their Faces grew’. Whose faces grew red in the poem?

A birds

B animals
C people
D maples

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given
Dear March—Come in—

How glad I am—

I hoped for you before—

Put down your Hat—

You must have walked—

How out of Breath you are—

Dear March, how are you, and the Rest—

Did you leave Nature well—

Oh March, Come right upstairs with me—

I have so much to tell—

I got your Letter, and the Birds—

The Maples never knew that you were coming—
I declare - how Red their Faces grew—

But March, forgive me—

And all those Hills you left for me to Hue—

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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There was no Purple suitable—

You took it all with you—

Q.No: 93 Which of the following is nearest in meaning to the word ‘hope’ in the given poem?

A anticipate
B forsake

C doubt

D despair

Correct Ans : A
Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Dear March—Come in—

How glad I am—

I hoped for you before—

Put down your Hat—

You must have walked—

How out of Breath you are—

Dear March, how are you, and the Rest—

Did you leave Nature well—

Oh March, Come right upstairs with me—

I have so much to tell—

I got your Letter, and the Birds—

The Maples never knew that you were coming—
I declare - how Red their Faces grew—

But March, forgive me—

And all those Hills you left for me to Hue—
There was no Purple suitable—

You took it all with you—

Q.No: 94 ‘How glad I am’. Which part of speech is the word ‘glad’ in the given line of the poem?

A noun

B adjective
C verb

D adverb

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
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Dear March—Come in—

How glad I am—

I hoped for you before—

Put down your Hat—

You must have walked—

How out of Breath you are—

Dear March, how are you, and the Rest—
Did you leave Nature well—

Oh March, Come right upstairs with me—
I have so much to tell—

I got your Letter, and the Birds—

The Maples never knew that you were coming—
I declare - how Red their Faces grew—
But March, forgive me—

And all those Hills you left for me to Hue—
There was no Purple suitable—

You took it all with you—

’

Q.No: 95 ‘I declare - how Red their Faces grew’. Which of the following is opposite in meaning to the word ‘declare’ in the given line?

A Disclose
B Deny

C Claim

D Prefer

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Dear March—Come in—

How glad I am—

I hoped for you before—

Put down your Hat—

You must have walked—

How out of Breath you are—

Dear March, how are you, and the Rest—
Did you leave Nature well—

Oh March, Come right upstairs with me—
I have so much to tell—

I got your Letter, and the Birds—

The Maples never knew that you were coming—

I declare - how Red their Faces grew—

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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But March, forgive me—
And all those Hills you left for me to Hue—
There was no Purple suitable—

You took it all with you—

Q.No: 96 Why does the poet say, “Dear March—Come in”?

A because the poet doesn’t need anyone else

B because the poet is alone

C because the poet has lost his dog and he feels sad about it
D because the poet loves it

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Dear March—Come in—

How glad I am—

I hoped for you before—

Put down your Hat—

You must have walked—

How out of Breath you are—

Dear March, how are you, and the Rest—
Did you leave Nature well—

Oh March, Come right upstairs with me—
I have so much to tell—

I got your Letter, and the Birds—

The Maples never knew that you were coming—
I declare - how Red their Faces grew—
But March, forgive me—

And all those Hills you left for me to Hue—
There was no Purple suitable—

You took it all with you—

Q.No: 97 Which of the following is the most suitable title for the given poem?

A A month of the year

B Nature of the word

C Dear march come in

D Best month of the year

Correct Ans : C

Subject : English Language 02
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Passage:

Read the passage given below and then answer the questions given below the passage.

Goods and services are divided into five different tax slabs for collection of tax: 0%, 5%, 12%, 18% and 28%. However, petroleum
products, alcoholic drinks, and electricity are not taxed under GST and instead are taxed separately by the individual state
governments, as per the previous tax system. There is a special rate of 0.25% on rough precious and semi-precious stones and 3% on
gold. In addition a cess of 22% or other rates on top of 28% GST applies on few items like aerated drinks, luxury cars and tobacco
products. Pre-GST, the statutory tax rate for most goods was about 26.5%, Post-GST, most goods are expected to be in the 18% tax
range. The reform of India's indirect tax regime was started in 1986 by Vishwanath Pratap Singh, Finance Minister in Rajiv Gandhi’s
government, with the introduction of the Modified Value Added Tax (MODVAT). Subsequently, Prime Minister P V Narasimha Rao and his
Finance Minister Manmohan Singh, initiated early discussions on a Value Added Tax (VAT) at the state level.

A single common "Goods and Services Tax (GST)" was proposed and given a go-ahead in 1999 during a meeting between the Prime
Minister Atal Bihari Vajpayee and his economic advisory panel, which included three former RBI governors IG Patel, Bimal Jalan and C
Rangarajan. Vajpayee set up a committee headed by the Finance Minister of West Bengal, Asim Dasgupta to design a GST model. The
GST was launched at midnight on 1 July 2017 by the President of India, and the Government of India. The launch was marked by a
historic midnight (30 June - 1 July) session of both the houses of parliament convened at the Central Hall of the Parliament. Though
the session was attended by high-profile guests from the business and the entertainment industry including Ratan Tata, it was
boycotted by the opposition due to the predicted problems that it was bound to lead for the middle and lower class Indians. The tax
was strongly opposed by the Indian National Congress.

Q.No: 98 According to the given passage, the GST tax was opposed by which of the following?

A Indian National Tax

B Reserve Bank of India

C Indian National Congress
D Trinamool Congress

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Goods and services are divided into five different tax slabs for collection of tax: 0%, 5%, 12%, 18% and 28%. However, petroleum
products, alcoholic drinks, and electricity are not taxed under GST and instead are taxed separately by the individual state
governments, as per the previous tax system. There is a special rate of 0.25% on rough precious and semi-precious stones and 3% on
gold. In addition a cess of 22% or other rates on top of 28% GST applies on few items like aerated drinks, luxury cars and tobacco
products. Pre-GST, the statutory tax rate for most goods was about 26.5%, Post-GST, most goods are expected to be in the 18% tax
range. The reform of India's indirect tax regime was started in 1986 by Vishwanath Pratap Singh, Finance Minister in Rajiv Gandhi’s
government, with the introduction of the Modified Value Added Tax (MODVAT). Subsequently, Prime Minister P V Narasimha Rao and his
Finance Minister Manmohan Singh, initiated early discussions on a Value Added Tax (VAT) at the state level.

A single common "Goods and Services Tax (GST)" was proposed and given a go-ahead in 1999 during a meeting between the Prime
Minister Atal Bihari Vajpayee and his economic advisory panel, which included three former RBI governors IG Patel, Bimal Jalan and C
Rangarajan. Vajpayee set up a committee headed by the Finance Minister of West Bengal, Asim Dasgupta to design a GST model. The
GST was launched at midnight on 1 July 2017 by the President of India, and the Government of India. The launch was marked by a
historic midnight (30 June - 1 July) session of both the houses of parliament convened at the Central Hall of the Parliament. Though
the session was attended by high-profile guests from the business and the entertainment industry including Ratan Tata, it was
boycotted by the opposition due to the predicted problems that it was bound to lead for the middle and lower class Indians. The tax
was strongly opposed by the Indian National Congress.

Q.No: 99 Which of the following products is taxed under GST?

A Petroleum
B Luxury car
C Electricity
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D Alcoholic drinks

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Goods and services are divided into five different tax slabs for collection of tax: 0%, 5%, 12%, 18% and 28%. However, petroleum
products, alcoholic drinks, and electricity are not taxed under GST and instead are taxed separately by the individual state
governments, as per the previous tax system. There is a special rate of 0.25% on rough precious and semi-precious stones and 3% on
gold. In addition a cess of 22% or other rates on top of 28% GST applies on few items like aerated drinks, luxury cars and tobacco
products. Pre-GST, the statutory tax rate for most goods was about 26.5%, Post-GST, most goods are expected to be in the 18% tax
range. The reform of India's indirect tax regime was started in 1986 by Vishwanath Pratap Singh, Finance Minister in Rajiv Gandhi’s
government, with the introduction of the Modified Value Added Tax (MODVAT). Subsequently, Prime Minister P V Narasimha Rao and his
Finance Minister Manmohan Singh, initiated early discussions on a Value Added Tax (VAT) at the state level.

A single common "Goods and Services Tax (GST)" was proposed and given a go-ahead in 1999 during a meeting between the Prime
Minister Atal Bihari Vajpayee and his economic advisory panel, which included three former RBI governors IG Patel, Bimal Jalan and C
Rangarajan. Vajpayee set up a committee headed by the Finance Minister of West Bengal, Asim Dasgupta to design a GST model. The
GST was launched at midnight on 1 July 2017 by the President of India, and the Government of India. The launch was marked by a
historic midnight (30 June - 1 July) session of both the houses of parliament convened at the Central Hall of the Parliament. Though
the session was attended by high-profile guests from the business and the entertainment industry including Ratan Tata, it was
boycotted by the opposition due to the predicted problems that it was bound to lead for the middle and lower class Indians. The tax
was strongly opposed by the Indian National Congress.

Q.No: 100 Which of the following persons was not the former RBI governor?

A C Rangarajan
B GI Jalan

C Bimal Jalan
D IG Patel

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Goods and services are divided into five different tax slabs for collection of tax: 0%, 5%, 12%, 18% and 28%. However, petroleum
products, alcoholic drinks, and electricity are not taxed under GST and instead are taxed separately by the individual state
governments, as per the previous tax system. There is a special rate of 0.25% on rough precious and semi-precious stones and 3% on
gold. In addition a cess of 22% or other rates on top of 28% GST applies on few items like aerated drinks, luxury cars and tobacco
products. Pre-GST, the statutory tax rate for most goods was about 26.5%, Post-GST, most goods are expected to be in the 18% tax
range. The reform of India's indirect tax regime was started in 1986 by Vishwanath Pratap Singh, Finance Minister in Rajiv Gandhi’s
government, with the introduction of the Modified Value Added Tax (MODVAT). Subsequently, Prime Minister P V Narasimha Rao and his
Finance Minister Manmohan Singh, initiated early discussions on a Value Added Tax (VAT) at the state level.

A single common "Goods and Services Tax (GST)" was proposed and given a go-ahead in 1999 during a meeting between the Prime
Minister Atal Bihari Vajpayee and his economic advisory panel, which included three former RBI governors IG Patel, Bimal Jalan and C
Rangarajan. Vajpayee set up a committee headed by the Finance Minister of West Bengal, Asim Dasgupta to design a GST model. The
GST was launched at midnight on 1 July 2017 by the President of India, and the Government of India. The launch was marked by a
historic midnight (30 June - 1 July) session of both the houses of parliament convened at the Central Hall of the Parliament. Though
the session was attended by high-profile guests from the business and the entertainment industry including Ratan Tata, it was
boycotted by the opposition due to the predicted problems that it was bound to lead for the middle and lower class Indians. The tax
was strongly opposed by the Indian National Congress.
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Q.No: 101 Which of the following is NOT correct here according to the information given in the passage?

A The GST was launched at midnight

B Goods and services are divided into five different tax slabs

€ Manmohan Singh was the Finance Minister of India at the time of P V Narasimha Rao
D Rajiv Gandhi set up a committee headed by the Finance Minister of West Bengal

Correct Ans : D
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Goods and services are divided into five different tax slabs for collection of tax: 0%, 5%, 12%, 18% and 28%. However, petroleum
products, alcoholic drinks, and electricity are not taxed under GST and instead are taxed separately by the individual state
governments, as per the previous tax system. There is a special rate of 0.25% on rough precious and semi-precious stones and 3% on
gold. In addition a cess of 22% or other rates on top of 28% GST applies on few items like aerated drinks, luxury cars and tobacco
products. Pre-GST, the statutory tax rate for most goods was about 26.5%, Post-GST, most goods are expected to be in the 18% tax
range. The reform of India's indirect tax regime was started in 1986 by Vishwanath Pratap Singh, Finance Minister in Rajiv Gandhi’s
government, with the introduction of the Modified Value Added Tax (MODVAT). Subsequently, Prime Minister P V Narasimha Rao and his
Finance Minister Manmohan Singh, initiated early discussions on a Value Added Tax (VAT) at the state level.

A single common "Goods and Services Tax (GST)" was proposed and given a go-ahead in 1999 during a meeting between the Prime
Minister Atal Bihari Vajpayee and his economic advisory panel, which included three former RBI governors IG Patel, Bimal Jalan and C
Rangarajan. Vajpayee set up a committee headed by the Finance Minister of West Bengal, Asim Dasgupta to design a GST model. The
GST was launched at midnight on 1 July 2017 by the President of India, and the Government of India. The launch was marked by a
historic midnight (30 June - 1 July) session of both the houses of parliament convened at the Central Hall of the Parliament. Though
the session was attended by high-profile guests from the business and the entertainment industry including Ratan Tata, it was
boycotted by the opposition due to the predicted problems that it was bound to lead for the middle and lower class Indians. The tax
was strongly opposed by the Indian National Congress.

Q.No: 102 ‘The reform of India's indirect tax regime was started in 1986". What does the word ‘regime’ mean in the given line of the

passage?
A a particular way of operating or organizing a business
B a quality that administration wants
C only partly in existence; imperfectly formed
D necessary as a duty or responsibility

Correct Ans : A
Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Goods and services are divided into five different tax slabs for collection of tax: 0%, 5%, 12%, 18% and 28%. However, petroleum
products, alcoholic drinks, and electricity are not taxed under GST and instead are taxed separately by the individual state
governments, as per the previous tax system. There is a special rate of 0.25% on rough precious and semi-precious stones and 3% on
gold. In addition a cess of 22% or other rates on top of 28% GST applies on few items like aerated drinks, luxury cars and tobacco
products. Pre-GST, the statutory tax rate for most goods was about 26.5%, Post-GST, most goods are expected to be in the 18% tax
range. The reform of India's indirect tax regime was started in 1986 by Vishwanath Pratap Singh, Finance Minister in Rajiv Gandhi’s
government, with the introduction of the Modified Value Added Tax (MODVAT). Subsequently, Prime Minister P V Narasimha Rao and his
Finance Minister Manmohan Singh, initiated early discussions on a Value Added Tax (VAT) at the state level.
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A single common "Goods and Services Tax (GST)" was proposed and given a go-ahead in 1999 during a meeting between the Prime
Minister Atal Bihari Vajpayee and his economic advisory panel, which included three former RBI governors IG Patel, Bimal Jalan and C
Rangarajan. Vajpayee set up a committee headed by the Finance Minister of West Bengal, Asim Dasgupta to design a GST model. The
GST was launched at midnight on 1 July 2017 by the President of India, and the Government of India. The launch was marked by a
historic midnight (30 June - 1 July) session of both the houses of parliament convened at the Central Hall of the Parliament. Though
the session was attended by high-profile guests from the business and the entertainment industry including Ratan Tata, it was
boycotted by the opposition due to the predicted problems that it was bound to lead for the middle and lower class Indians. The tax
was strongly opposed by the Indian National Congress.

Q.No: 103 ‘Which included three former RBI governors’. Which of the following is nearest in meaning to the word ‘include’ in the
given line of the passage?

A incorporate
B eliminate

C profuse

D preference

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Goods and services are divided into five different tax slabs for collection of tax: 0%, 5%, 12%, 18% and 28%. However, petroleum
products, alcoholic drinks, and electricity are not taxed under GST and instead are taxed separately by the individual state
governments, as per the previous tax system. There is a special rate of 0.25% on rough precious and semi-precious stones and 3% on
gold. In addition a cess of 22% or other rates on top of 28% GST applies on few items like aerated drinks, luxury cars and tobacco
products. Pre-GST, the statutory tax rate for most goods was about 26.5%, Post-GST, most goods are expected to be in the 18% tax
range. The reform of India's indirect tax regime was started in 1986 by Vishwanath Pratap Singh, Finance Minister in Rajiv Gandhi’s
government, with the introduction of the Modified Value Added Tax (MODVAT). Subsequently, Prime Minister P V Narasimha Rao and his
Finance Minister Manmohan Singh, initiated early discussions on a Value Added Tax (VAT) at the state level.

A single common "Goods and Services Tax (GST)" was proposed and given a go-ahead in 1999 during a meeting between the Prime
Minister Atal Bihari Vajpayee and his economic advisory panel, which included three former RBI governors IG Patel, Bimal Jalan and C
Rangarajan. Vajpayee set up a committee headed by the Finance Minister of West Bengal, Asim Dasgupta to design a GST model. The
GST was launched at midnight on 1 July 2017 by the President of India, and the Government of India. The launch was marked by a
historic midnight (30 June - 1 July) session of both the houses of parliament convened at the Central Hall of the Parliament. Though
the session was attended by high-profile guests from the business and the entertainment industry including Ratan Tata, it was
boycotted by the opposition due to the predicted problems that it was bound to lead for the middle and lower class Indians. The tax
was strongly opposed by the Indian National Congress.

Q.No: 104 ‘Initiated early discussions on a Value Added Tax’. Which part of speech is the word ‘early’ in the given line of the
passage?

adverb
adjective

preposition

g 0O w r

determiner
Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.
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Goods and services are divided into five different tax slabs for collection of tax: 0%, 5%, 12%, 18% and 28%. However, petroleum
products, alcoholic drinks, and electricity are not taxed under GST and instead are taxed separately by the individual state
governments, as per the previous tax system. There is a special rate of 0.25% on rough precious and semi-precious stones and 3% on
gold. In addition a cess of 22% or other rates on top of 28% GST applies on few items like aerated drinks, luxury cars and tobacco
products. Pre-GST, the statutory tax rate for most goods was about 26.5%, Post-GST, most goods are expected to be in the 18% tax
range. The reform of India's indirect tax regime was started in 1986 by Vishwanath Pratap Singh, Finance Minister in Rajiv Gandhi’s
government, with the introduction of the Modified Value Added Tax (MODVAT). Subsequently, Prime Minister P V Narasimha Rao and his
Finance Minister Manmohan Singh, initiated early discussions on a Value Added Tax (VAT) at the state level.

A single common "Goods and Services Tax (GST)" was proposed and given a go-ahead in 1999 during a meeting between the Prime
Minister Atal Bihari Vajpayee and his economic advisory panel, which included three former RBI governors IG Patel, Bimal Jalan and C
Rangarajan. Vajpayee set up a committee headed by the Finance Minister of West Bengal, Asim Dasgupta to design a GST model. The
GST was launched at midnight on 1 July 2017 by the President of India, and the Government of India. The launch was marked by a
historic midnight (30 June - 1 July) session of both the houses of parliament convened at the Central Hall of the Parliament. Though
the session was attended by high-profile guests from the business and the entertainment industry including Ratan Tata, it was
boycotted by the opposition due to the predicted problems that it was bound to lead for the middle and lower class Indians. The tax
was strongly opposed by the Indian National Congress.

Q.No: 105 ‘Due to the predicted problems that it was bound to lead for the middle and lower class Indians’. Which part of speech is
the word ‘bound’ in the given line?

A noun

B adjective
C adverb

D verb

Correct Ans : B

Subject : English Language 02

Q.No: 106 What are these few words like ‘he, she, it, they, but, and, a, of, to etc. known as?

A from words

B use words

C sight words

D unimportant words

Correct Ans : C

Subject : English Language 02

Q.No: 107 Which of the following is not related with the principle of selection and gradation?

A availability
B courage

C frequency
D accuracy

Correct Ans : D

Subject : English Language 02

Q.No: 108 Wwhat is etymology in terms of language learning process?

A study of words origin

B study of languages

C study of meaning of the words
D science of pedagogy

Correct Ans : A
Subject : English Language 02
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Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically
and contextually correct.

He seems so . It's easy to talk to him.
A friend
B sincere
C secure
D ill

Correct Ans : B

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically
and contextually correct.

Her work on DNA was admired.
A complete
B widely
C regular
D safely

Correct Ans : B

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically
and contextually correct.

He didn't tell me anything, he needed some money.
A except
B and
C despite
D in spite

Correct Ans : A
Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically
and contextually correct.

She stayed the Falcon Hotel my stay in Mumbai.
A at - during
B at - while
C to - while
D in - to

Correct Ans : A

Subject : English Language 02
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Q.No: 113 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically

A
B
C
D

and contextually correct.

Relax! She suffered only injuries.

serious
major
minor

brutal

Correct Ans : C

Subject : English Language 02

Q.No: 114 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically

A
B
C
D

and contextually correct.

Go and talk him. Don’t shout

to -on
to-to
with - to

to - at

Correct Ans : D

Subject : English Language 02

Q.No: 115 Which one of the following is not a type of listening?

A
B
C
D

Discriminative Listening
Comprehensive Listening
Informal Listening

Interactive Listening

Correct Ans : D

Subject : English Language 02

Q.No: 116 Which one of the following are the aims of Listening Skills?

A

B

C
D

Understand and infer concepts
Identify the speakers' purpose and tone
Verbal interaction

All of the above

Correct Ans : D

Subject : English Language 02

Q.No: 117 Which of the following are rare in Indian classrooms?

A

B
C
D

Peer teaching
Role-play
Group activities

All of the above

me!
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Correct Ans : D

Subject : English Language 02

Q.No: 118 The language learner receives instructions in the native language until proficiency in the target language is referred to as

A Receptive Bilingualism

B Sequential Bilingualism

C Simultaneous bilingualism

D Coordinate model of language

Correct Ans : B

Subject : English Language 02

Q.No: 119 Which of the following point is a function of Heuristic language?

A To communicate with masses.

B To satisfy emotional and psychological needs through communication.
C To gain knowledge from the environment and surroundings.

D Language distinguishes human beings from animals.

Correct Ans : C

Subject : English Language 02

Q.No: 120 which of the following is not purpose of evaluation?

A To improve teaching

B To diagnose problem

C To judge effectiveness of teaching

D To improve understanding level of students

Correct Ans : D

Subject : English Language 02

Q.No: 121 Which is mental disease?

2473538
PH-91 AARD [GPR g2
Tetanus
A
R (fee )
Neurosis
B
et T
Drug dependence
C
et garelf R FfRar
Alcoholism
D

TRETH

Correct Ans : B
Subject : Child Developement
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Q.No: 122 Cooing and babbling is related to -
2473540

YT T ST BT T § -

Social development

A

g faer

Personality development
B

i fasr

Language development
C

HIST faebr

Physical development
D

RN faer™

Correct Ans : C

Subject : Child Developement

Q.No: 123 Behavior is psychological studies according to ...........

2473545
............ P TR GER HAIGIHS &R B
Hurlock
A
FEGICD
J. B. Vatson
B
S, staree
Adler
C
TSR
Freud
D
s

Correct Ans : B

Subject : Child Developement

Q.No: 124 The study of child development is important
2473547

1A [AH HT g Ayl § -

A For proper care of child
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For all round development of child

B

T & Fartor e & fig

To control the development of child
C

T @ e o1 Fafa $1 & ki

To child for making good citizen
D

3=y AR & fafor ¥ ferg

Correct Ans : B

Subject : Child Developement

Q.No: 125 Dysgraphia means:

2473562
g faPR 3 o 7
Difficulty in reading
A
UgA #§ e
Difficulty in writing
B
foren § pies
Difficulty in grasping
C
o H Bl
Difficulty in walking
D

T § Bios
Correct Ans : B

Subject : Child Developement

Q.No: 126 How does the child’s development process proceed?

2473563
TS Bt faHr Ui $8 Fgdt 82
Simple to complex
A
W ¥ dfed
Complex to simple
B
Sfed & Wwa
Specific to general
C

o @ am=
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D General to specific

T 3 falk
Correct Ans : D

Subject : Child Developement

Q.No: 127 Cephalocaudal law is associated with ...........
2473564

Development

A

oo

Growth
B

=

Emotion
C

Yig=T

Maturation
D

gRuer

Correct Ans : A

Subject : Child Developement

Q.No: 128 First stage of labor is called -

2473573
RGBT TR SARIT Bl § -
Expulsion
A
[REaGE]
Contraction
B
R
Development
C
fasra
Total expulsion
D

of fFrspRE
Correct Ans : B

Subject : Child Developement

Q.No: 129 Trembling, depression, fear and phobia are sign of -
2473574
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TR, SfadTe, 3% TE Hg & 8T B

Epilepsy
A

fonif

Parkinson’s disease
B

LRICEOE]

Mental sickness
C

TR SaRt

Alzheimer’s disease
D

IHRYS fiRae

Correct Ans : C

Subject : Child Developement

Q.No: 130 Type of personality according to Jung’s -

2473756
T % AR Afekid & TR 3-
Introvert & Extrovert
A
St v sfedet
Athletic & Extrovert
B
et v sfegedt
Mesomorphy & Introvert
C
AT T Sferfet
Social & Ambient
D

IS Td SHIgE!
Correct Ans : A

Subject : Child Developement

Q.No: 131 The dominant attitude has an effect on the personality of the children -
2473757

Al & fdid TR yy@=ma Sifaf &7 JuyE usdr g-

Feeling of inferiority

A
SIREM BT UTGT
B Feeling of superiority
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 55/64

Page - 55



AW BT HIGT

Feeling of cooperation

TG B UG

Feeling of self — confidence

STA- Ay @Y yraT
Correct Ans : A

Subject : Child Developement

Q.No: 132 Human personality is the result of which of the following -

2473762
Ha Afa Fafied § § e aiomm §-
Only heredity
A
Fad SdRIHr
Upbringing and education
B
are — Tor o fRie
Interaction between heredity and environment
C
TIaRmar SR Wi & o9 sfa:foan
Only the environment
D

Had qafaRu

Correct Ans : C

Subject : Child Developement

Q.No: 133 During classroom discussion, a teacher often pays more attention to boys than girls. This is an example of -
2473763

He & =af & IR U R bER asibdl St g1 # asH! W 3ifie & &dT § 98 TP IS0 § -

Gender bias

A

fo e

Gender identity
B

T Ugam

Gender relevance
C

fof viwfiresar

Gender constancy
D

T Ry
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Correct Ans : A

Subject : Child Developement

Q.No: 134 Which of the following factor is not necessary for a retarded child?
2473776

Pofifed § @ SH-91 ued Acglg ae & RIY saws T8 82

Slow learning

A
A &t 1ig
Physical defect
B
RUNIGACL]
Lack of abstract thinking
C
3 forea BT SfHTg
Originality
D
Afear

Correct Ans : D
Subject : Child Developement

Q.No: 135 Which among the following is not a type of multiple - intelligence?
2473777

fofafead § § $H-91 98 - g B ISR 61 82

Linguistic
A

I

Spatial
B

s

Interpersonal
C

IRUWRS

Analysis
D

for=atoor

Correct Ans : D

Subject : Child Developement

Q.No: 136 The formula for intelligence quotient (IQ) is-
2473778

1Q (3fE; @f<n) AT &1 9 7-
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Chronological age

X 100
Mental age

qREc (eI 31
HIARIS 311

x 100

Mental age

- % 100
Chronological age

A D 3
e Teh 311

x 100

Chronological age x Mental age

100

AT A SR XATH D 31
100

100 x Chronological age

Mental age

100 TR 4R Y
AT g

Correct Ans : B

Subject : Child Developement

Q.No: 137 According to Freud the mind’s three components are-

2473788
WIS F SIER 79 & diF Hew o-
Ego, id, superego
A
3fgH, T8, WIeH
Unconscious, moral, immoral
B
3R, e, sHfte
Oral, anal, phallic
€
Primary, secondary, tertiary
D

TRIff®, AT, qake
Correct Ans : A
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Subject : Child Developement

Q.No: 138 The influence of parents on the personality of their children is -
2473789

= & fdid TR AIdl- foar &1 uvE 8-

Non existent

A
EISELE
Weakest in early childhood
B
TCUTaRT § Hed HHSIR
Strongest in early childhood
C
IR SaRn § ved qoeg
Consistent across the life span
D

TERYT Sfie HE H TP I
Correct Ans : C

Subject : Child Developement

Q.No: 139 “You cannot teach a man anything, you can help him to find it within himself”. Who said this?
2476823

"3Y T SHEH! B o o Tt Rrar Gavd, 310 39 07 HieR Wior & IUS! Ae IR Udhd 3" | T8 fhem Hgr?

Galileo Galilei

A

efiferdr refteit

H. C. Morrison
B

T, . AR

John Dewey
C

ST 58

T. P. Green
D

4. . 9=

Correct Ans : A

Subject : Child Developement

Q.No: 140 Which of the following is not a personal factor that affects learning?
2476824

Fafafaa & ¥ 19 siftvm & QM 39 9ren safeda oRe T8l 87

A Motivation
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RO

Interest
B

S

Ability
C

Tqrar

Teacher’s personality
D

TR
Correct Ans : D

Subject : Child Developement

Q.No: 141 As per Thomas P. Green, “Teaching is the task of a teacher, which is performed for the of the child.”
2476825
A W, W9 & o uR, "Rier o Res TR 8, S & ¥ fom foar S 31
Learning
A
T
Training
B
UfRreor
Evaluation
C
i

Development

for

Correct Ans : D

Subject : Child Developement

Q.No: 142 Which ofthe following statements is/are frue?
2476830 1 vsisual learners leam better by watching
2. Visual leamers take copious notes
Choose the correct code -

rTToITad & & il and Had T 6/87?

1. Tey frammelf S@e Sgav e §
2 ey Ramif yR A A Aca e §

1 only

Fad 1
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B 2 only

Faq 2
Both 1 and 2
C
gHf 1 &R 2
Neither 1 nor 2
D

a1 eRAE 2

Correct Ans : C

Subject : Child Developement

Q.No: 143 Which of the following is/are NOT frue apout Visual leamers?
2476832 4 They are benefitted by illustrations and visual presentations
2. They are usually notneat and clean in theirwork

Choosethe correct code -

Trafafag # & Fid cear Ranfiit & aX T 781 687
1. 3 Toeidt 3N T Tt ¥ emenrad g €

2.3 AR IR 39T 1A & AH-G2 6T 61T 6
B! RIS o -

1 only

Had 1

2 only

Had 2
Both 1 and 2

a1 3R 2

Neither 1 nor 2

T 1SRG 2

Correct Ans : B

Subject : Child Developement

Q.No: 144 Which of the following is not a primary mental ability as suggested by Thurstone?
2476833

Frafefad & 3 1 °wH grR1 g1 78 Wi AR A el 82

Number

Ritc)
Memaorv
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wfa

Perceptual Speed
C

Wis

Attitude
D

zaar

Correct Ans : D

Subject : Child Developement

Q.No: 145 Children learn through -------
2476845

1. Social interaction

2. Social participation

Choose the correct code -

Cict & ey § e §
1. WATS b

2. WIS HRfieRT

TG IS A -

1 only

Fad 1

2 only

FHad 2

Both 1 and 2

i 1 3R 2

Neither 1 nor 2

TA13RAE 2

Correct Ans : C

Subject : Child Developement

Q.No: 146 The knowledge about various types of aptitudes enables us to economise our efforts and maximise
2476850

T3t UeR @t siftiemaisli & IR & IH 88 ou AgTdl & HH I 3R I MfHaH A H Gem Sl 51 R RIF W
problems

A
gremait

B
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learning

3T
reading
C
clzpe)
memory-power
D

TRU-TfdT
Correct Ans : B

Subject : Child Developement

Q.No: 147 Maturation is related to:

2476851
iUl Jefid §:
Process of growth
A
3is ot ufbar @
Process of teaching
B
TRiegor % ufsbar @
Process of productivity
C
TG P Uisba J
Process of necessity
D

SaLHdTr Pt ufshar ¥

Correct Ans : A

Subject : Child Developement

Q.No: 148 The earliest attempt to conceptualize intelligence was the psychometric tradition beginning with the work of
2477017
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Noam Chomsky
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Alfred Binet
B
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Norman Finkelstein
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D Bertrand Russell
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Correct Ans : B

Subject : Child Developement

Q.No: 149 Which of the following is NOT true?
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Everyone has his/her own way of learning.
A

T et o1 S 1 ST T S 31

Persons should follow others’ way of learning
B

gl B gIRI B AR & TP BT SITIRU AT 1T

There are various theories which facilitate our understanding about learning
C

T8 33 Rigia § o 3fm & aR # AR 99 BT 3H 11 §

Knowing about how children learn can facilitate the entire teaching learning process
D
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Correct Ans : B

Subject : Child Developement

Q.No: 150 Binet suggested main elements of intelligence.
2477019
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Correct Ans : C

Subject : Child Developement
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